
Batch: Roll No.

Time: 3 hour

Q1) Q2)

a) a)
b) b)
c) c)
d) d)

Q3) Q4)

a) a)

Suzuki Motorcycle introduces standards edition of.........

2019

2020

2018
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The government of India has announced the plan to 
privatise which government airline?

Air Asia

In which year uber Eats is acquired by zomato?

ODD SEMESTER 2022-23

2017

Which of the following country acquired IDBI Bank?

Attempt All Questions. Each Question Carries 1 marks

Sessional II Examinations

Code: _____BBA-503______
Subject : _____GENERAL BUSINESS AWARENESS_________



b) b)
c) c)
d) d)

Q5) Q6)

a) a)
b) b)
c) c)
d) d)

Q7) Q8)

a) a)
b) b)
c) c)
d) d)

Air india

Apple to offer bigger screens on.......

Cool Berg

.......to launch swadesh to sell products sourced from 
artisans

sony

Maharaja Airlines

Reliance Retail

Address Health 

Qmin

Name the company that purchased three bags full.

Myra

Twitter acquired Dutch startup company, What is the 
name of that company 

Revue

SGX

Vistara



Q9) Q10)

a) a)
b) b)
c) c)
d) d)

Q11) Q12)

a) a)
b) b)
c) c)
d) d)

Natural Resources 

Which of the following determinants of growth is a non - 
economic factor?

Physical quality of life index

The monetary policy committee consists of ........members.

None of the above

Which of the following could not be considered a major 
economic system?

Capitalism

The value of money increases first and then decreases

Capital

Favourable legislation 
The value of money decreases first and then increases later

Inflation is the state in which....... 

Socialism
Communism



Q13) Q14)

a) a)
b) b)
c) c)
d) d)

Q15) Q16)

a) a)
b) b)
c) c)
d) d)

Q17) Q18)

Decrease in money supply and fall in production 

Structural changes in the economy 

Which of the following agencies are responsible for 
computing the national income  statistics in india?

The cause of inflation is:The term economic growth is explained by..........

Per capita income

Increase in per capita income

which is based on wholesale price index?

Disposable income

Industrial sector expected to grow by in 2021-2022

Increase in the per capita production Increase in money supply and fall in production 

The average income of a country is known as

Real national income 

All of the above

Gross national product 



a) a)
b) b)
c) c)
d) d)

Q19) Q20)

a) a)
b) b)
c) c)
d) d)

Q21) Q22)

a) a)
b) b)

low inflation 

The decline in.........was led by easing of food inflation.

Finance ministry 

The headline inflation in india is measured in respect of 
movement of:

According to economic survey, which can be a sharb 
increase by government as a deman and suppy enhancing 
measure?

Retail Inflation 
Wholesale inflation 

Pull inflation 

Valuation of currency 

High inflation 

Where are the foreign exchange  reserves held in india?

Retail Inflation 

Non of the above

Central Treasury



c) c)
d) d)

Q23) Q24)

a) a)
b) b)
c) c)
d) d)

Q25) Q26)

a) a)
b) b)
c) c)
d) d)

which of the following sectors contributes the lowest to 
india's GDP?

service sector
industrial sector

Which of the following is not a method to calculate the 
Gross Domestic Product?

Cost of living index for agricultural labour

Agriculture sector

Reserve Bank of India 

 Mixed Economy

 Socialistic Economy 

Free Economy

None of the above

 Capital Economy

All the nationalised banks

India has: Indian economy is basically based in the contribution 
of.......



Q27) Q28)

a) a)
b) b)
c) c)
d) d)

Q29) Q30)

a) a)
b) b)
c) c)
d) d)

Q31) Q32)

a) a)
b) b)
c) c)

Saving bank account holders

Indian economy provides.......shares of GDP. Inflation is measured by......

Who releases data of national income in india?

Which is the state animal of Delhi.

Inflation brings most benefit to which one of the following 
?

53%

Government Pensioners

70%

Creditors 

Snow leopard 

Black Bug 

60%

Nilgai

None of the above

Debtors 

State animal of sikkim?



d) d)

Q33) Q34)

a) a)
b) b)
c) c)
d) d)

Q35) Q36)

a) a)
b) b)
c) c)
d) d)

Q37) Q38)

9-Apr

Hangul

Panther 

Who was the first recipient of Bharat Ratan?

10-Apr

Which is the himachal Pradesh's state animal?

7-Apr

Which is the indias highest's Civilian award?

5-Apr

Which day is celebrated as international literary Day?

Elephant 
Snow Leopard 

Lion

Who was the first indian to win nobel prize?

Which day is celebrated as World health day?



a) a)
b) b)
c) c)
d) d)

Q39) Q40)

a) a)
b) b)
c) c)
d) d)

Q41) Q42)

a) a)
b) b)
c) c)
d) d)

Indra Gandhi

S.S. Bhatnagar

Who wrote Discovery of India?

Gaur

Jawaharlal nehru

Lion 
Tigor

One Horned Rhinoceros

Sardar Parel

Rabindranath tagore

C.V Raman

Mahatma Gandhi

Which is the state animal of Bihar? Who is the author of 'Chitra'?

J.C. Bose

Which player has won the womens single indian open 
(Badminton)2022?



Q43) Q44)

a) a)
b) b)
c) c)
d) d)

Q45) Q46)

a) a)
b) b)
c) c)
d) d)

Q47) Q48)

which country has topped the medal table of winter 
Olympics games 2022 held in Beijing?

Ratan Tata

The software which allows you to view the web page is 
called.

Which one the following would not be considered as a 
form of secondary storage?

Asha Bhosle

Sachin Tendulkar 
Lata Mangeshkar 

Printer

Which of the following is not an output device?

Monitor 
Scanner

Plotter

Who won the Maharashtra Bhushan Award?

United Nations general assembly has proclaimed which 
day as the international day to combat islamophobia?



a) a)
b) b)
c) c)
d) d)

Q49) Q50)

a) a)
b) b)
c) c)
d) d)

51 52

(a) (a)

(b) (b)

(c) (c)

Fundamental Duties K.M. Munshi

President's Rule

Mar-15

insert key

B.N. Rau

Fundamental Rights

Mar-17

Mar-14

who among the following was not a member of the Drafting Committee of the Constitution Assembly?

Home key

The move to the button of a document , press....... Single word reference to viruses, worms, etc is .

Mar-16

End key

N.G. Ayyangar

Ctrl + End

Which of the following was not included when the writing of the constitution of India was completed on 29 November, 1949?



(d) (d)

53 54

(a) (a)

(b) (b)

(c) (c)

(d) (d)

55 56

(a) (a)

(b) (b)

(c) (c)

(d) (d)

42 Amendment 

Mohammad Saadulah Emergency 

jaswant singh

None of these

Right to Education' has been placed in india constitution under:

86 Amendment Act

24 Amendment 

59 Amendment 

Pratibha Patil

who won the president election in 2020:

81 Amendment Act 

73 Amendment Act 

Droupadi Murmu

91 Amendment Act 

44 Amendment 

Which constitutional Amendment provided for the setting up of Administrative Tribunals in india? By which Amendment, the power to amend the constitution was specifically conferred upon the parliament?



57 58

(a) (a)

(b) (b)

(c) (c)

(d) (d)

59 60

(a) (a)

(b) (b)

(c) (c)

(d) (d)

61 62

(a) (a)

(b) (b)

(c) (c)

(d) (d)

Australia 

1964

Right to vote and to be elected in india is a: 

Dr. S.R. Sen 

Who among the following is empowered to establish the Inter-State council?

The concept of Public Interest Litigation originated in:

Concurrent List

State list

Parliment 

Natural Right 

Who among the following was a member of sarkaria Commission?

Canada 

the United States 

the United Kingdom 

1984

None of these

Fundamental Right

Prime Minister 

Constitutional Right

Legal Right

O V. Algesan

1885

President 

1980

Law and order' is included in the:

V.Shankar

K.Hanumanthaiah

Union List

Speaker of Lok Sabha 

In which year was Communist party of India - Marxist ( CPI-M) Founded?



63 64

(a) (a)

(b) (b)

(c) (c)

(d) (d)

65 66

(a) (a)

(b) (b)

(c) (c)

(d) (d)

67 68

(a) (a)

(b) (b)

One religion is promoted by the Govt.

Constitution Draft Committee 

In July 2022, RBI has approved the merger of which bank with its parent company?

Confirmation in policies 

All religions are equal in the eyes of the government 

Preamble Committee 

Yes Bank

Which of the following are known as pressure groups?

K.M. Munshi was related to:

HDFC Bank

caste groups 

All of the above

Trade union 

ICICI BankTrade union

None of the Above 

What is the true meaning of Secular?

Caste Groups 

None of the above 

Which of the following are known as pressure groups ?

Tribal organisations

Which of the following is not the merit of the Presidential system?

Axis Bank

Special importance to a religion related to minorities 

Public Accounts committee 

Permanent Government 



(c) (c)

(d) (d)

69 70

(a) (a)

(b) (b)

(c) (c)

(d) (d)

71 72

(a) (a)

(b) (b)

(c) (c)

(d) (d)

Conference 

1954

1947

Tribal organisations 

Laterite

1945

Alluvial

When did india join the United Nations?

Red rocky

Government by Expersts

Common Wealth 

In acronym SAARC, 'C' stands for:

All of the above

Cooperation 

Committee

Which of the following states is the largest producer of edible oil in india?

Rajasthan

Madhya Pradesh Black cotton 

1950

Bihar

Maharashtra 

The soil of india's eastern and western coast is:

Limited Representation 



73 74

(a) (a)
(b) (b)
(c) (c)
(d) (d)

75

(a)

(b)

(c)

(d)

Niska

North to East

Khadira

Loptra

East to West
North to West

None of these

Priest
Accountant
The Spy
Police Officer 

The Barids of Delhi Sultanate was:

West to East

In the early Vedic period the medium of exchange (as money) was known as:

Rivers in the Deccan Plateau flow from :



































































































Q52)
a)

b) b)
c) c)



d) d)
Q53) Q54)

a) a)
b) b)
c) c)
d) d)

Q55) Q56)
a) a)
b) b)
c) c)
d) d)

Q57) Q58)
a) a)
b) b)
c) c)
d) d)

Q59) Q60)
a) a)
b) b)
c) c)
d) d)

Q61) Q62)

40.04 points

40kg

Find the lowest common multiple of 24, 36 and 40.

235
123

There are 36 boys and 44 girls in a class. The average 

28.95 points

3\47

35.5 points

39kg

2\47

305

37.25 points

5\48

42kg

HCF of 3/16, 5/12, 7/8 is

127

Average weight of 25 boys in a class is 48 kgs. The 
44 kg

1\48

The greatest number which on dividing 1657 and 2037 



a) a)
b) b)
c) c)
d) d)

Q63) Q64)
a) a)
b) b)
c) c)
d) d)

Q65) Q66)
a) a)
b) b)
c) c)
d) d)

Q67) Q68)
a) a)
b) b)
c) c)
d) d)

Q69) Q70)
a) a)
b) b)

 If one-third of one-fourth of a number is 15, then three-

36

1

What is the place value of 7 in the numeral 2734 ?

35

120

If a sum of Rs.8000 lended for 20% per annum at 

7
70

610
612

616

2

614

7.2
700

480

 Find the compound interest on Rs. 7500 at 4% per annum 

45

360

54

240



c) c)
d) d)

Q71) Q72)
a) a)
b) b)
c) c)
d) d)

Q73) Q74)
a) a)
b) b)
c) c)
d) d)

Q75)
a)
b)
c)
d)

44\7%

3

600
588

10%

A fruit seller had some apples. He sells 40% apples and still has 

No Proft, no loss

8%

 Alfred buys an old scooter for Rs. 4700 and spends Rs. 
4

7%

672

5%

12%

700

A trader mixes 26 kg of rice at Rs. 20 per kg with 30 kg of 

55\11%



Electronic Scooty

Suzuki Motorcycle introduces standards edition of.........

EBX

LIC

ITC

HI-TECH Institute of Engineering & Technology, Ghaziabad

DEPARTMENT OF MANAGEMENT & COMMERCE

Maximum Marks: 75

Which of the following country acquired IDBI Bank?

India UPL Ltd

Subject : _____GENERAL BUSINESS AWARENESS_________



Famous innovations 

Apple to offer bigger screens on.......

I Phone 14 Pro, I Phone 14 Pro Max

I Phone 12

In mobi 

I Phone G, I Phone 13

OYO rooms 

Motor Cycle
None of the above

Hawas groups

Name the company that purchased three bags full.

Avenis Scooter

I Phone 13



4

The monetary policy committee consists of ........members.

8

The value of money decreases
The value of money increases 

The value of money increases first and then decreases

6

The value of money decreases first and then increases later

9

Inflation is the state in which....... 



Decrease in money supply and fall in production 

Which of the following agencies are responsible for 
computing the national income  statistics in india?

Reserve Bank of India 

The cause of inflation is:

Central Stastical Office

Increase in money supply
Fall in production 

Industrial sector expected to grow by in 2021-2022

Increase in money supply and fall in production 

Ministry of finance
Planning Commission 



Wholesale price index 

Distribution 

None of the above

10.50%

Employment 

The headline inflation in india is measured in respect of 
movement of:

Consumer price index 

According to economic survey, which can be a sharb 
increase by government as a deman and suppy enhancing 

11.50%

Price

Capital Spending 

4%



Service Sector 

Product Method

Secondary Sector

Income Method 

None of the above

Which of the following is not a method to calculate the 
Gross Domestic Product?

Cost of living index for agricultural labour

Diminishing Cost Method 
Expenditure Method

Primary Sector 

Money supply 

Indian economy is basically based in the contribution 



CSO

wholesale price index

NSSO

Consumer price index 

Inflation is measured by......

Red panda

None of the above

Who releases data of national income in india?

Elephant 

NITI Aayog

Marshall's index
None of the above

Deer

State animal of sikkim?



8-Sep
7-Jul

Who was the first recipient of Bharat Ratan?

Which is the indias highest's Civilian award?

28-Jun

Which day is celebrated as international literary Day?

Sea Cow

Padma Vibushan

19-Apr

Bharat Ratna

National Award
Padma Bhushan



Karl Marx
kautilya

Mahatma gandhi ji
Jawaharlal Nehru

Rabindranath tagore

Akane yamaguchi
Ratchanok intanon

Who is the author of 'Chitra'?

Indra gandhi

Dr Radhakrishnan

Nozomi Okuhara

Which player has won the womens single indian open 
(Badminton)2022?

Busanan ongbamrungphan

None of the above



interpreter

which country has topped the medal table of winter 
Olympics games 2022 held in Beijing?

India

The software which allows you to view the web page is 

Which one the following would not be considered as a 
form of secondary storage?

Operating system 

Web site

China

Web browser 

Germany
Norway



killerware

Optical disk

Phish

Floppy disk

RAM
Hard disk

harmware

Single word reference to viruses, worms, etc is .

malware

Which of the following was not included when the writing of the constitution of India was completed on 29 November, 1949?



42

who won the president election in 2020:

56

24

52

By which Amendment, the power to amend the constitution was specifically conferred upon the parliament?



Who among the following is empowered to establish the Inter-State council?

The concept of Public Interest Litigation originated in:

Law and order' is included in the:

Speaker of Lok Sabha 



One religion is promoted by the Govt.

In July 2022, RBI has approved the merger of which bank with its parent company?

All religions are equal in the eyes of the government 

Which of the following are known as pressure groups?

What is the true meaning of Secular?

Special importance to a religion related to minorities 



In acronym SAARC, 'C' stands for:

Which of the following states is the largest producer of edible oil in india?



The Barids of Delhi Sultanate was:



































































































70
76
78

Average of 10 matches is 32, How many runs one should score to 



64
The mean weight of a group of seven boys is 56 kg. The 

504

276

28
H.C.F. of 513, 1134 and 1215 is ________

36

18

536

80

27

88

548

Two numbers are in the ratio of 15:11. If their H.C.F. is 13, find the 

345

54

The least number, which when divided by 12, 15, 20 and 54 leaves 

The H.C.F. of two numbers is 23 and the other two factors of their 

33

544

299
322



1
In what time will Rs. 1000 become Rs. 1331 at 10% per annum 

4

8125

2109

6109

 Find compound interest on Rs. 8000 at 15% per annum for 2 

122 and 80

The simple interest on a sum of money for 3 years at 6²/3 % per 

4109

4

195 and 143

3109

87 and 190

6655
4496

15

None of these

7.5

7210

Find the number, when 15 is subtracted from 7 times the number, 
5



3

1\10

1%

None of above

2%

6

3%

What will be the fraction of 20%

A man buys an article for Rs. 27.50 and sells it for Rs 28.60. Find 

1\4

4%

1\5


